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What becomes clear about Harlesden in paragraph 47?

A It has been transformed into a popular London tourist attraction.
B It has developed into a rather diverse and vivid neighbourhood.
C It has opened large department stores to attract foreigners.

D It has turned into a dismal place that people avoid with reason.

What is the function of paragraph 57?

A to explain why some people still refuse to live in Harlesden

B to give an example of what went wrong with Harlesden

C to make clear that locals are also working to improve Harlesden
D to stress what still needs to be done to change Harlesden

30 “If they can afford it,” (paragraph 6)
What becomes clear from this remark by Leroy Simpson?
A Banks are reluctant to provide mortgages for houses in Harlesden.
B Former residents of Harlesden are familiar with its drawbacks.
C Harlesden is turning into a fashionable and attractive area.
D Simpson’s parents have unsuccessfully tried to sell their house.
31 “Because we keep ourselves to ourselves, we've become isolated.”
(alinea 6)
- In welke alinea is dit aspect al eens benoemd?
Noteer het nummer van deze alinea.
Tekst 10
32 ‘all while hauling a ton of bricks.’ (eerste alinea)
- Wat is de reden voor Jim Dreyer om stenen mee te slepen?
Geef antwoord in het Nederlands.
33 Geef van elke bewering over Jim Dreyer aan of deze juist of onjuist is
volgens de tekst.
Omcirkel ‘juist’ of ‘onjuist’ in de uitwerkbijlage.
1 Hij wordt tijdens zijn tocht voorzien van eten en drinken door een
ploeg die meevaart.
2 Hij gaat deze uitdaging aan om reclame te maken voor zijn bedrijf.
3 Hij draagt tijdens de zwemtocht een speciaal voor hem ontworpen pak.
4 Hij verwacht geen problemen tegen te komen tijdens deze tocht.
34 Uit welke zin blijkt dat Jim Dreyer ervan overtuigd is dat zijn tocht zal

slagen?
Citeer (= schrijf over uit de tekst) de eerste twee woorden van deze zin.
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